Answers

Regression Matching Activity
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r=0.981
(X,y) =(1.25, 8.19)

y =3.21+3.98x
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r =0.999
(X,¥) = (3.50, 69.8)

y=4.53+18.7x

r=0.915
(X, V) = (22.6, 2.60)

y =1.00 +0.0706Xx
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Regression Matching Activity
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r =-0.405
(X, V) = (54.6, 43.9)

y =67.8—0.4375x

0 2 0 4 % 0 0 @ %
x | 0.0149 | 0.0375 | -0.0172 | -0.0345 | 0.0651
y 357.2 284.3 435.8 571.9 101.2
8004y
5001 r =-0.981
4007 _
(X,y) =(0.0132,
3007 350)
2001
N y = 406 — 4269x
L 1 1 Il 1 1 1 1 1 1 1 TL
005 -004 -003 -002 -001 001 002 003 004 005 008 007
x|148|10.3|13.2|18.6|12.1|11.8|13.8| 155
y| 82 |10.1| 65 |150| 99 119|123 | 124

R

r=0.510
(X,y)=(138,10.8)

y = 3.48+ 0.531x
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